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12 80 RASTT afed TR @™ NESIRIES 26.493484 74.612916 16' 228 TR GYR = | = 2 R Rl
13 80 9% R RIS Mg 26.493429 74.612737 14' 228 TR IR = | = 2 R -
14 80 waT ufT . I RIS g 26.493522 74.612688 14' 228 TR GuR = | = 2 R 8f
15 80 el e NEIS RG] 26.493404 74.612548 14' 228 TR IR =1 | = 2 - -
16 80 @rell e NESIRIE] 26.493372 74.612641 14' 228 TR GYR A | = 2 - —
17 80  [¥=TgR yF gar @ NEISRIKIES 26.493538 74.612816 13' 228 TR GER =¥ | =l 2 R gf
18 80 g g3 e NEISIRIE] 26.493516 74.612718 13' 228 TR GYR = | = 2 R sf
19 80 garell <t ufeT v g Rt g 26.493549 74.612745 13' 228 TR IR = | = 2 R &
20 80  [Wo gF W@ SR NEISIRIES 26.493618 74.612672 13' 228 TR GoR = | =l 2 + hEl
21 80 SR ufed e RIS Mg 26.493645 74.612614 13' 228 TR IR = | = 2 R &
22 80 ArEdE (7<) RIS g 26.493658 74.612588 13' 228 TR GYR = | = 2 R —
23 80 [ @ g3 @ gen RIS T 26.493631 74.612487 13' 228 TR GER =¥ | =l 2 R &f
24 80 @Tell e NESIRIES 26.493703 74.612203 13' 228 TR GuR = | = 2 - —
25 80 YR U . gl NEIS RG] 26.493829 74.612266 13' 228 TR IR = | = 2 R el
26 80 Nicisieicxal NEISIRIE] 26.493821 74.612393 13' 228 TR GYR A | = 2 R 8f
27 80  [sreeie IR yF NEISRIKIES 26.493869 74.612439 13' 228 TR GER =¥ | =l 2 R gf
28 80 [Steltel g . RIS g 26.493724 74.612689 Chock 228 TR GoR = | =l 2 R Bl
29 80 YR G . 3T RIS Mg 26.493724 74.612689 Chock 228 TR IR = | = 2 R &
30 80 95 TR NEISIIRIE] 26.494021 74.612629 13' 228 TR GYR = | = 2 R —
31 80 AT ufeT wifere NEIS RG] 26.494177 74.6125 13' 228 TR IR =1 | = 2 R el
32 80 SRISIRISIKES NEISIRIE] 26.494002 74.612316 13' 228 TR GuR = | = 2 R 8f
71 80 Qe e RIS Mg 26.493065 74.61217 15' 228 TR IR = | = 2 - -
72 80 |sofem 43 %@ e=x NEISRIRIE] 26.493115 74.612147 15' 228 TR GoR = | =l 2 R Bl
73 80  |omsie gm @, A NEISRIRIES 26.493259 74.612244 15' 228 TR GER =¥ | =l 2 R gf
74 80 |arHe ym W@ wvAr NEISIRIE] 26.493259 74.612244 15' 228 TR GoR = | =l 2 R Bl
75 80 TToTTE (Tl wle) RIS Mg 26.493351 74.612133 15' 228 TR IR = | = 2 - —
76 80 [emSie g @ gar NEISIIRIE] 26.49335 74.612157 15' 228 TR GoR = | =l 2 R Bl
77 80 |Wrgedie U v g RS T 26.493616 74.613575 15' 228 | R g = [ a2 R G




